2A: 23t
A AR ZHY U2t 2/25H0 =)
thelr 2StolsdE (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
Zot0l=1 66,002,468 65,675,353 327,115
= 1,001,853 702,853 299,000
s 12,945,000 12,945,000 0
| 8,187,480 8,187,480 0
[ 43,868,135 43,840,020 28,115
2ARSIC M USH (2L 2/ 25H0=) 65,654,727 65,377,017 277,710
= 1,001,853 702,853 299,000
s 12,945,000 12,945,000 0
J| 8,187,480 8,187,480 0
S 43,520,3% 43,541,684 A21,290
el E=FSE= 1,844,200 1,850,200 26,000
Zstlls F&Es N2 870,600 876,600 26,000
308 XXIHMSOIA 870,600 876,600 26,000
01 AXHHBAELS 870,600 876,600 26,000
OEF NLZE XRsds 29 0 6,000 6,000
2 2383 |4 6,816,320 6,518,320 298,000
= 299,000 0 299,000
= 6,517,320 6,518,320 1,000
NAHEZSHM =M K& (HEAIY) 586,000 587,000 A 1,000
207 AR 19,000 20,000 1,000
01 A=A 19,000 20,000 A1,000
OXNSAHESHU=H Bt 2H(HE) 19,000 20,000 21,000
X HEM=EM X(=22) 299,000 0 299,000
= 299,000 0 299,000
308 KEXIEHHMSO0IS 299,000 0 299,000
= 299,000 0 299,000
01 AXHHBAELS 299,000 0 299,000
OXSUEN=H S48 X 299,000 0 299,000
= 299,000 0 299,000
FoRH =AY 4 17,429,910 17,444,200 A14,290
s 12,396,000 12,396,000 0
[ 5,033,910 5,048,200 214,290
I ZEI=AY JIBES 91,210 955,500 214,290
308 XXM SOIA 124,710 139,000 214,290
01 AXHHBeELS 124,710 139,000 N 14,290
O AEL|2Y JABH= WA XA 35,710 50,000 A14,290
Hegs(Ssu=) (2 2/2380s) 300,033 250,633 49,405
S=RSPNE 300,038 250,633 49,405
EoU=ERE 22X S EtE 300,038 250,633 49,405
802 Btet= DI Et 300,038 250,633 49,405
01 =nEx=ttet= 300,038 250,633 49,405
©'234 OtSCH2 010K EHLIAY 49,405 0 49,405
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